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1. 5%fEFE “polymerase chain reaction™ (5 43);
22 {EREAEEIF 4 45)
Polymerase chain reaction th (A 258 FTi{£4£9 DNA polymerase ? (4 43)
MY #4HY DNA polymerase ZAMTHEIRAT? (4 7)

2. Please define “enzyme” ? (5 43)
FIRERSENECRERRE ¢ FFRRH=E? (9 )
EERARIEM? (5 7)

3. {JsREH (Gene)? 3 77)

EBANEEEE (Genomics)? (5 77)
IRER R E R R RRE IR - AR 2 RIS R g SRl B (7
(10 77)
4. 1 TEZFRHEER (Restriction enzyme)? (5 43)
AR R A? (4 57)
MEEHE? (G )
5. {172 DNA =40 (Recombinant DNA) %fif? (8 43)
22 [ErR AN @)
6. SEMLFE “catabolite repression”. (5 43)
FEEA cAMP UN{elSEIEEREYRE? (5 )

7. Please explain the following mechanism for genetic transfer:

(1) transformation (4 43)

(2) conjugation (4 43)

(3) transduction (4 43)







